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Name: Period: Date

S INTRO TO STOICHIOMETRY

Methane reacts with oxygen as shown in the combustion reaction below.

2CHOH + 30: 2> 2C0: + 4 HO

a) Complete the table using information represented in the chemical equation above.

Sibstance Molar Mass Number of Number of Wassi(a)
(g/mol) Molecules Moles (mol)
CH3OH 32.05

02 32.00

CO; 4401

H20 18.02
b) What are the reactants?
¢) What are the products?
d) What is the total mass of the reactants?
e) What is the total mass of the products?
f) How do the total masses of the reactants and products compare?
g) What is conserved in the reaction? (circle answers)

Atoms moles molecules mass

2. What is a mole ratio?
3. Given this equation: 6 Na + Fe:03 > 3 Na:O + 2 Fe, write the following molar ratios:

a) Na/ Fez0; c) Fe:03/ Fe

b) Na / NazO d) Naz0O / Fe20s3



4. Answer the following questions for this equation: 2 Hz + Oz = 2 H.0

a) What is the Hz / H20 mole ratio?

b) Suppose you had 20 moles of Hz on hand and plenty of O.. How many moles of HzO could you
make?

¢) What is the O: / H20 mole ratio?

d) Suppose you had 20 moles of Oz and enough Hz. How many moles of Hz0 could you make?

5. Answer the following questions for this equation: 2 CsHio + 13 02 = 8 CO: + 10 H.0

a) What is the CsHio / CO2 mole ratio?

b) If 10 moles of CsHio were used, how many moles of CO: would be produced?

¢) What is the Oz / H20 mole ratio?

d) If 3.00 moles of O were used, how many moles of H2O would be produced?

e) If 6.00 moles of H2O were produced, how many moles of Oz were required?
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